LESSON 36

MA 26100-FALL 2023
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19. Let S be the semi-ellipsoid z = 24/1 — 22 — 32, oriented so that the normal n is upward
pointing. Let

F(z,y,2) =2+ y°j + 2* tan ay k.
Use Stokes’ Theorem to to evaluate [ | . curlF - ndS
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ANNOUNGEMENTS

e Final Exam is Mon Dec 11 at 8:00am- 10:00am

— Note: in the morning!

* Final Exam Study Guide:



https://www.math.purdue.edu/~kthood/docs/MA261_Fall2023/final_study_guide_ma261_f23.pdf
https://www.math.purdue.edu/~kthood/docs/MA261_Fall2023/final_study_guide_ma261_f23.pdf
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Consider F = {(x —y,x + z,z — y). Find ffS F - 1dS where Sis_ o
the surface of the cone z2 = x? + y? for0 < z < 1 and the <3
circular top of the cone.
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(Spring 2023 Final Exam #20) 7=
ind the outward flux of the vector F = (sin(y), xz, 3z) across the

ooundary of the space between the two spheres of radii 1 and 2,
poth centered at the origin.
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(Fall 2019 Final Exam #18)

18. Consider<F = %, where r = (z, y, z) and |r| = (2% + y? + 2%)1/2. Which one of the
Tl
following is true con S éyVl‘(’\W .é _ q (\ ‘."Liw
\/(1) Jo F - dr is independent of path. A
—%M JJ¢F -ndS =0 for any closed surface S that encloses the origin. = %‘L‘ :
Gif div(F) = 0. for (x,y,2) # (0,0,0) (2) %
X L+ X 3 v
A. None of the above. 3 — -.,zk = /’3 ? Leys {ZT d
B. 1) and (ii). _ 1 _ ?iL
C. Only (i) and (jii Y? S 5 ‘ _3?-)_
D. Only (ii) and (iii). %‘é _ (_[_2__ 3}—1) N _|,3 - ﬁ( )4, (;g - s
E. All of the above. Y s ¢ v \}
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